
    

SS—85—Bio. (Agr.)  SS–601   [ Turn over 

 ŸÊ◊Ê¢∑§ Roll No. 
  

 
 

      

No. of Questions — 23  SS—85—Bio. (Agr.) 

No. of Printed Pages — 7 
©UìÊ ◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2011 

SENIOR SECONDARY EXAMINATION, 2011 
flÒ∑§ÁÀ¬∑§ flª ̧IV — ∑Î§Á· ( OPTIONAL GROUP IV — AGRICULTURE ) 

∑Î§Á· ¡ËflÁflôÊÊŸ ( AGRICULTURE BIOLOGY ) 

‚◊ÿ — 3 
1
4  ÉÊá≈U 

¬ÍáÊÊZ∑§ — 48 

 ¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê — 
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ – 

  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 

 2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª̋¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ 
„UÙŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ – 

   If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 

version should be treated valid. 

 3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U – ¬˝‡Ÿ ‚¢ÅÿÊ 22 ∞fl¢ 23 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U – 

  All the questions are compulsory. Question Nos. 22 and 23 have 

internal choices. 

 4. ¬à̋ÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ – 

  Write the answer to each question in the given answer-book only. 
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 5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ flÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ 

‚ÃÃ˜ Á‹π¥ – 

  For questions having more than one part carrying similar marks, 

the answers of those parts are to be written together in 

continuity. 

 6. ¡„UÊ° ÷Ë •Êfl‡ÿ∑§ „UÙ ¬Áã‚‹ ‚ Sflë¿U ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ – 

  Draw neat and clean labelled diagram with pencil wherever 

necessary. 

 7. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U 

Áfl∑§À¬ ( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ 

ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê ’ŸÊ∑§⁄U Á‹π¥ —  

  There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part 

has four alternatives A, B, C and D. Write the letter of the correct 

alternative in the answer-book at a place by making a table as 

mentioned below : 
 

   ¬̋‡Ÿ ∑̋§◊Ê¢∑§ 
Question No. 

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U  
Correct letter of 

the Answer 

 

 1.       (i)    
 1.       (ii)   
 1.       (iii)   
 1.       (iv)   
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1. i) π¬⁄UÊ ∑§Ë≈U ∑§Ë „UÊÁŸ ¬„È°UøŸ flÊ‹Ë •flSÕÊ „ÒU 

  (•) ∑§ÙÁ‡ÊÃ (’) Áª«UÊ⁄U   

  (‚) flÿS∑§ ÷Î¢ª (Œ) ∑§ÙÁ‡ÊÃ fl flÿS∑§ ÷Î¢ª – 
  The harmful stage of Khapra beetle is 

  (A) Pupa (B) Caterpillar 
  (C) Adult beetle (D) Pupa and adult beetle. 1

2   

 ii) »§‹Ë’œ∑§ ∑§Ë≈U ∑§Ë ◊ÊŒÊ •¬Ÿ ¡ËflŸ ∑§Ê‹ ◊¥ •á«U ŒÃË „ÒU  

  (•) 5 – 50 (’) 200 – 2000 

  (‚) 500 – 1000 (Œ) 50 – 100. 

  The female of Pod borer lays eggs in her life cycle 

  (A) 5 – 50 (B) 200 – 2000 
  (C) 500 – 1000 (D) 50 – 100. 1

2    

 iii) Á÷á«UË ∑§Ê ¬Ë‹Ê Á‡Ê⁄UÊ ◊Ù¡∑§ ⁄UÙª ∑§Ê ‚¢ø⁄UáÊ „UÙÃÊ „ÒU 

  (•) ’◊ËÁ‚ÿÊ ≈U’‚Êß¸ mÊ⁄UÊ (’) ¬Ù‹ËÁ◊Ä‚Ê mÊ⁄UÊ  

  (‚) Á‚S≈UÙ‚∑§Ê¸ ªË̋ªÁ⁄UÿÊ mÊ⁄UÊ (Œ) Á„‚Ë◊ÙŸÊ‚ »§ÊßÁ‚≈UË‚ mÊ⁄UÊ – 

  Yellow vein mosaic of Bhindi is transmitted by 

  (A) Bemisia tabaci  (B) Polymixa  
  (C) Schistocerca gregaria (D) Hishimonas phycitis. 1

2   

 iv) flÊß⁄U‚ ¡ÁŸÃ ⁄UÙª „ÒU 

  (•) ≈U◊Ê≈U⁄U ∑§Ê ¬áÊ¸∑È¢§øŸ (’) ’Ò¥ªŸ ∑§Ê ‹ÉÊÈ ¬òÊ∑§   

  (‚) ŸË¥’Í ∑§Ê ∑¥§∑§⁄U (Œ) ∑§¬Ê‚ ∑§Ê ê‹ÊÁŸ – 

  Viral disease is  

  (A) Tomato leaf curl (B) Little leaf of brinjal  
  (C) Citrus canker (D) Wilt of cotton. 1

2  
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2. Á∑§ã„UË¥ ŒÙ ∞∑§’Ë¡¬òÊË ¬ıœÙ¥ ∑§ ŸÊ◊ Á‹Áπ∞ – 
 Write the names of any two monocotyledonous plants. 1

2   

3. flŸS¬ÁÃ ÁflôÊÊŸ ∑§Ê ¡Ÿ∑§ Á∑§‚ ∑§„UÊ ªÿÊ „ÒU ?  
 Who is the father of botany ? 1

2   

4. øŸ ∑§Ë •ªÃË ’È•Êß¸ ∑§⁄U Á∑§‚ ∑§Ë≈U ∑§ ¬˝∑§Ù¬ ‚ ’øÊ ¡Ê ‚∑§ÃÊ „ÒU ?  
 From which insect is the early sown gram crop protected ? 1

2   

5. πÃÙ¥ ◊¥ ∑§ìÊË ªÙ’⁄U ∑§Ë πÊŒ Á∑§‚ ∑§Ë≈U ∑§Ù •Ê∑§Á·¸Ã ∑§⁄UÃË „ÒU ? 
 Which insect does the undecomposed dung manure attract in the 

fields ? 1
2   

6. ∞∑§ „ÒUÄ≈U⁄U »§‚‹ ◊¥ Á∑§ÃŸ »§Ë⁄UÙ◊ÙŸ ≈˛Ò¬ ‹ªÊÿ ¡ÊÃ „Ò¥U •ı⁄U ßã„¥U »§‚‹ ‚ Á∑§ÃŸË ™°§øÊß¸ ¬⁄U 
‹ªÊÿÊ ¡ÊÃÊ „ÒU ? 

 How many pheromone traps are used in one hectare crop and at which 

height are they placed over crops ? 1
2  + 12  = 1 

7. ¬ıœ ‚¢⁄UˇÊáÊ ÿ¢òÊ ∑§ øÈŸÊfl ∑§ ‚◊ÿ äÿÊŸ ⁄UπŸ ÿÙÇÿ ∑§Ùß¸ øÊ⁄U ‚ÊflœÊÁŸÿÊ° Á‹Áπ∞ – 
 Write about any four precautions taken at the time of selection of plant 

protection equipment. 4 × 14  = 1 

8. (•) ’Ò¥ªŸ ∑§ ‹ÉÊÈ ¬òÊ∑§ ⁄UÙª ∑§ ∑§Ùß¸ ŒÙ ‹ˇÊáÊ Á‹Áπ∞ – 
 (’) œÊŸ ∑§ πÃ ◊¥ πÒ⁄UÊ ⁄UÙª ∑§Ê ∑§Ê⁄UáÊ ∞fl¢ ¬˝’ãœŸ ∑§Ê ∑§Ùß¸ ∞∑§ ©U¬Êÿ Á‹Áπ∞ –  
 (a) Write any two symptoms of little leaf disease of brinjal. 

 (b) Write the cause of Khaira disease in paddy field and write any  

 one control measure. 4 × 12  = 2 

9. ∑§¬Ê‚ ∑§Ë ¡ËflÊáÊÈ •¢ª◊Ê⁄UË ⁄UÙª∑§Ê⁄U∑§ ∑§Ê ŸÊ◊ ÃÕÊ ß‚ ⁄UÙª ∑§ ∑§Ùß¸ ŒÙ ‹ˇÊáÊ Á‹Áπ∞ – 
 Write the name of causal organism and any two symptoms of bacterial 

blight of cotton. 1 + 12  + 12  = 2 

10. ‚⁄U‚Ù¥ ∑§Ë ‚»§Œ ⁄UÙ‹Ë ⁄UÙª ∑§ ∑§Ùß¸ ŒÙ ‹ˇÊáÊ ∞fl¢ ¬˝’ãœŸ ∑§ ŒÙ ©U¬Êÿ Á‹Áπ∞ – 
 Write any two symptoms and two control measures of white rust of 

mustard. 4 × 12  = 2  
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11. ¡ËflÊáÊÈ•Ù¥ ∑§Ù ©UŸ∑§ •Ê∑§Ê⁄U ∑§ •ÊœÊ⁄U ¬⁄U Á∑§ÃŸ ÷ÊªÙ¥ ◊¥ flªË¸∑Î§Ã Á∑§ÿÊ ªÿÊ „ÒU ? ŸÊ◊ 
Á‹Áπ∞ – 

 In low many kinds are bacteria divided according to their size ? Write 

their names. 4 × 12  = 2 

12. (•) ∞∑§‹ ‚¢∑§⁄U ∑˝§ÊÚ‚ ◊¥ ‹ˇÊáÊ ¬˝ÊM§¬ •ŸÈ¬ÊÃ Á‹Áπ∞ – 
 (’) ¬˝ÃË¬ ‚¢∑§⁄UáÊ ∑§Ù ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ –  
 (a) Write the phenotypic ratio of monohybrid cross. 

 (b) Define test cross. 1 + 1 = 2 

13. (•) ⁄UÙ„ÍU ◊¿U‹Ë ∑§Ê ¡ãÃÈ flÒôÊÊÁŸ∑§ ŸÊ◊ Á‹Áπ∞ – 
 (’) ⁄UÙ„ÍU ◊¿U‹Ë ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ –  
 (a) Write the zoological name of Rohu fish. 

 (b) Draw a labelled diagram of Rohu fish. 1
2  + 1 + 12  = 2 

14. ¬˝∑§Ê‡Ê ‚¢‡‹·áÊ •ı⁄U ‡fl‚Ÿ ◊¥ ∑§Ùß¸ øÊ⁄U •ãÃ⁄U Á‹Áπ∞ – 
 Write any four differences between photosynthesis and respiration.  

   4 × 12  = 2 

15. (•) ¬⁄UÊ‚⁄UáÊ ∑§Ù ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – 
 (’) ‚Êfl¸ÁòÊ∑§ ŒÊÃÊ •ı⁄U ‚Êfl¸ÁòÊ∑§ ª˝Ê„UË L§Áœ⁄U flªÙZ ∑§ ŸÊ◊ Á‹Áπ∞ –  
 (a) Define osmosis. 

 (b) Write the names of universal donor and universal recipient blood 

groups. 1 + 12  + 12  = 2 

16. (•) ‚ÍòÊ∑Î§Á◊ŸÊ‡ÊË •ı⁄U ∑§fl∑§ŸÊ‡ÊË ‚ ÄÿÊ •Á÷¬˝Êÿ „ÒU ? 
 (’) ‡fl‚Ÿ Áfl· •ı⁄U Ã¢ÁòÊ∑§Ê Áfl· ∑§Ù ‚◊¤ÊÊß∞ –  
 (a) What are meant by nematicide and fungicide ? 

 (b) Explain respiratory poison and nerve poison. 4 × 12  = 2 

17. ¡ÒÁfl∑§ ∑§Ë≈U ÁŸÿ¢òÊáÊ ∑§ ∑§Ùß¸ øÊ⁄U Á‚hÊãÃ Á‹Áπ∞ –  
 Write any four principles of biological insect control. 4 × 12  = 2 

18. ‚◊Ê∑§Á‹Ã ŸÊ‡Ê∑§ ∑§Ë≈U ¬˝’ãœŸ ∑§ ◊„Uàfl ∑§ ∑§Ùß¸ øÊ⁄U Á’ãŒÈ Á‹Áπ∞ – 
 Write any four points of importance of integrated pest management. 

    4 × 12  = 2 
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19. ÿ∑Î§Ã ∑Î§Á◊ ∑§Ê ¡ãÃÈ flÒôÊÊÁŸ∑§ ŸÊ◊ Á‹Áπ∞ ÃÕÊ ß‚∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊß∞ –  
 Write zoological name of liver fluke and draw its labelled diagram. 

    1
2  + 1 + 12  = 2  

20. ¡Òfl ¬˝ılÙÁª∑§Ë ∑§ ©U¬ÿÙª Á‹Áπ∞ –   
 Write down the applications of Biotechnology. 3  

21. (•) ŒË◊∑§ ∑§Ê fláÊ¸Ÿ ÁŸêŸ Á’ãŒÈ•Ù¥ ∑§ •ÊœÊ⁄U ¬⁄U ∑§ËÁ¡∞ — 
  (i) ¬Ù·∑§ ¬ıœ (∑§Ùß¸ øÊ⁄U) 
  (ii) ˇÊÁÃ ∞fl¢ ◊„Uàfl 
  (iii) π«∏UË »§‚‹ ◊¥ ŒË◊∑§ ÁŸÿ¢òÊáÊ ∑§ ∑§Ùß¸ ŒÙ ©U¬Êÿ –   
 (’) ◊¿UÁ‹ÿÙ¥ ◊¥ ¬Êÿ ¡ÊŸ flÊ‹ Áfl≈UÊÁ◊ŸÙ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ – 
 (a) Describe the termite under the following heads : 

  (i) Host plants ( any four ) 

  (ii) Damage and importance 

  (iii) Any two control measures of termite in standing crops. 

 (b) Describe the vitamins found in fishes. 1 + 1 + 2 + 1 = 5 

22. (•) ∞S∑§Á⁄U‚ ∑§Ê •ÊflÊ‚ fl Sfl÷Êfl Á‹Áπ∞ – 
 (’) ∞S∑§Á⁄U‚ ∑§Ë ’Ê±ÿ •Ê∑§ÊÁ⁄U∑§Ë ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊ∑§⁄U fláÊ¸Ÿ ∑§ËÁ¡∞ –  

•ÕflÊ 
 (•) •◊Ë’Ê ∑§Ê •ÊflÊ‚ fl Sfl÷Êfl Á‹Áπ∞ –  
 (’) •◊Ë’Ê ∑§Ë ’Ê±ÿ •Ê∑§ÊÁ⁄U∑§Ë ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊ∑§⁄U fláÊ¸Ÿ ∑§ËÁ¡∞ –  
 (a) Write habit and habitat of Ascaris. 

 (b) Describe the external morphology of Ascaris with labelled 

diagram. 1
2  + 12  + 2 + 2 = 5 

OR 

 (a) Write habit and habitat of Amoeba. 

 (b) Describe the external morphology of Amoeba with labelled 

diagram. 1
2  + 12  + 2 + 2 = 5  
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23. ÁŸêŸÁ‹ÁπÃ ‡ÊË·¸∑§Ê¥ ∑§ •ãÃª¸Ã ∑˝Í§‚Ë»§⁄UË (’˝Á‚∑§‚Ë) ∑È§‹ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ —  
 (i)  Œ‹¬È¢¡U 
 (ii)  ¬È◊¢ª 
 (iii)  ¡ÊÿÊ¢ª 
 (iv)  ¬Èc¬ ‚ÍòÊ 
 (v)  •ÊÁÕ¸∑§ ◊„Uàfl – 

•ÕflÊ 
 ÁŸêŸÁ‹ÁπÃ ‡ÊË·¸∑§Ê¥ ∑§ •ãÃª¸Ã ◊Ê‹fl‚Ë ∑È§‹ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞ —  
 (i)  Œ‹¬È¢¡U 
 (ii)  ¬È◊¢ª 
 (iii)  ¡ÊÿÊ¢ª 
 (iv)  ¬Èc¬ ‚ÍòÊ 
 (v)  •ÊÁÕ¸∑§ ◊„Uàfl – 
 Describe the family Cruciferae ( Brassicaceae ) under the following 

heads : 5 × 1 = 5 

 (i) Corolla 

 (ii) Androecium 

 (iii) Gynoecium 

 (iv) Floral formula  

 (v) Economic importance.  

OR 

 Describe the family Malvaceae under the following heads : 5 × 1 = 5 

 (i) Corolla 

 (ii) Androecium 

 (iii) Gynoecium 

 (iv) Floral formula  

 (v) Economic importance.  

    


